2010F FEFEETEAN T =X —F X NFERXR (F19[E])

MPJBF T ILAKE

4/818H(RH) J\&#/N—F 1R
48248 (%£) tE2mH 2R, QF
4825R(R) =& SF.F

1R 2R QF SF F
FZE LEN®E (PHYHK—F) Bl
2 B Y E WO
FBEF 3 EBE-HM(AKR v L ) =iz
¥:2A 4 =8B ( E L ):l_' 84
5. Y E =5
FEG 6 #®ER:m= (FLIMLLFC) 81 BT
$®C 7 R = (MDI S) iy 86
FZH S8 /MEKILE (M DI S ) /NES WO
FRD 9 58K (R w3 a) WO BT
FER 10. M EH (Eﬁ%fﬁ?ﬁ):l_l 81
1. Y E 55
FBS 12 HbP F—H(=ZZEHM) WO INE
FEB I3 EMEA (BREHIZ) =yl 7562
14, B Y E 83
F2N 5 )IhEE (B & £ 7) 210
FEP 16, B (48 yhk) R 82
FEK 17N E  (BERMEF) 85 EM
2L 18 EA®K=- ( & L ) 80 INE
FRQ OI9KEER (/N 40vHh) 5 81
2 0.FUE=Z (FS5T7Tv7Y) 7RI 83
FEO 21.ZFMEEAN (KR v P a2 ) 83 INE
¥ 22 2@ EF ()‘)lx&ff‘/)} 84
23. B Y E INE
FEM 24 MERF (% — = #£) 98(2)
-~ » i
MPFBBFTIMRFEA)
4848 (H) ¥ 9:30 4748 (H) ¥ 9:30 -
AJOvY 1 2 3 KA NE BJ7ovs 1 2 3 KA NE
B3 & Y Y B LB -, 1256],
' pyr—n ®-1 o2 || (axesn) 57182 [ 2] 2
R = } B P B EA } D6 .
2\ mtoqnnre) | 178 1-8102] 3 TEmanry |@° ©31" @[30 !
=H-= DEF EEES
3 (52505) - - - - - 3 (UVC) 2-6 | 3-6 2-6 | 0-3 4
515 L0 P 3 EE R 72 7 6-7 | — }
) ©-7]6@-1 2.0 1 41 (NoK) 0 | ) |©2 2] 3
48108 (+) it®@EE 9:30 48108 (+) it®@EE 9:30
c7avs 1 2 3 4 [ N DJovsy 1 2 3 4 sk | JBAL
[RIBIL 2 _ _ _ _ —/# 5 _ _ _ _
1 (MDIS) ©-21©-11®-1] 3-0 ! 1 (BEFE_AN) 58 2] 1 2
NEETE 76 D8N D6 o [ 2 | [ofBBE DT s
*(EZM%I) ® | @ *%W
A 5 — 67 N T 1 1
¥ wosams |0 @) S I I I Il MO ° ey
Tl B 67 | - 3 %E BB — 1 1. }
4 (B37GST) 1-6 (4) ®-4 1-2 3 4 (PHH—k) 2-8 1-8 0-2 3
48108 () d=EEmE 10:15 48108 () d=EmEEs 13:00
[E50v7 1 2 3 4 | B IRE | |[FFavs 1 2 3 4 | B IR
I BEE T =1, RH % ol 1| oo
1 (%ﬁﬂfﬁ?\) ®-11®-0|®-1] 3-0 1 1 (AAMET) 2-6 | 4-6 | 1-6 | 0-3 4
Tl & } NP FlE B 3 NP
2 mpapTe) |10 ©-3]36|1-2) 3 2| mpEpTe |©2 ©-0) 26271 2
FLAE N - N e 1
3 (AA¥ET) 0-6 | 3-6 1-6 | 0-3 4 3 (B32GST) ®-4| 0-6 5-711-2 3
TN EE el } ER B0 NP . 3
4 (NS EEHE) 1-6 | ®-3| ®-1 2-1 2 4 (Rysa) ®-1|®-2|®D-5 3-0 1




2010F FEFEETEAN T =X —F X NFERXR (F19[E])

MPEBFOITIRAFE)

AF10B(4) 3@ 1300 AF108(+) @ 1300
Gy T [ 2 1 3 [ 2 [BR[ER] [[Tovs T [ 2 1 3] % [BX|ER
BR—= 0 [BET DEr
2[R e |eHEHTEYsONo 2~ 2| e —GHA KTy ONo. T~
3 ’Q;ﬁ*ﬁg‘a) —GHA IOy ONo.3~ I[P
BE = DEr RA BE Iy =
4 IMDIS) 4 (BT ) GH& & Z7av~MNo.4
48108 (L) id=ErEE 13:00 ‘ 48178 (L) J\&/N—K 9:30
CHA Ty 5 T [ 2 [ 3 ] 4 [BRER] [Dovs T [ 2 [ 3 4 [BR|ER
i 'JEE/?D%S? 2-6 |®-0|®-4|2-1| 2 i %igﬁﬁﬁ%) 58| - |®-3|1-1] 2
2 %gfﬂmm) ®-2 ®-1 %)6 3-0| 1 2 %53};3)) ®-5 - |@-7]2-0| 1
3 /Jﬁf;ﬁi) 0-6 | 1-6 4-6 | 0-3 | 4 3 WT I - | - -l - -
A 0E T - =5 95 T 5
Hewawre (Y@ [ 23 MHessewe |87 2] @
48178(H) J\EA—F 9:30 48178(H) J\EA—F 9:30
0% T [ 2 [ 3 [ 7 [BRER]| [KIoww T [ 2 13 % [BX[ER
e e e e L e
BR 55 - T BE BN 1 1
: (ELI4VLFC) 58 581023 S (ELI4VLFC) 0-8 48023
R R B
' S | - | +8]®3 e | P e |70 - [ e
AF17E(H) J\EA— 9:30 AF17E(H) J\EA— 9:30
[5av5 T [ 2 [ 3 [ 2 [BR[ER] [Moovs T [ 2 13 [ 7 [BX[ER
A 3
i ﬂé?ﬁx) ©-3|®-0|4-62-1] 2 i Eﬂ@ﬁfx) -6 | 1-6 [®@-0| 1-2 | 3
2 5%%%:_'\) 3-6 ©-4|3-6|1-2] 3 2 ’ngfﬂi) ©-1 ©-3|®-0|3-0] 1
’ngﬁfﬂ 0-6 | 4-6 2-6 | 0-3| 4 3 ﬁﬁ(ﬁfgﬂ ®©-1| 3-6 ®-1]2-1] 2
/P B
4 %;j’)ﬁ: ©-4|®-3|®-2 3-0| 1 4 %;fﬁﬁm 0-6 | 0-6 | 1-6 0-3| 4
48178 (1) J\EBA—F 1300 48178 () J\EBA—F 1300
Noaus T [ 2 [ 3 [ 2 [BR[ER] [0Job T 1 213 BE Bk
=== = —
PBEEREE _ _ |5 KRG GRE 2-6 _ _
2| INTTRaE) 46 ©11©1/2701 2 | |2]" fxmr) 4-6 0-1 2
F S
3 [T 2-6 | 1-6 ®©-2|1-2| 3 I[BEREEF -] - -] -
4 ’Qipﬁ; 2-6 | 1-6 | 2-6 0-3| 4
AF17E(H) J\EBA—F 1300 AF17E(H) J\EA—F 1300
Pavs T 1 213 BRER] [QJovs T 1 213 B e
[uwy 3 faN=]
LI EE — o8 § RE B - i
3 (LR 0-8 | ) i-1] 3 ) 2-8 | 5-8 0-2 | 3
AF17E(H) BB 9:30 AF17E(+) st 1300
RIOVS T [ 2 [ 3 [ 4 [BR|Ee]| [Govs T [ 2 1 3 % [BX|ER
2[R ©-1 ©-of57|2-1| 2 | |2|BEE i, @ ®0| - |20] 1
NE R R
e 1-6 | 0-6 0-6 [ 0-3| 4 P A e 8|08 - o2 3
B 8 Fk DEF
gFHEEE - |e-2|0-5|®-0 3-0 | 1 4| - - - - | -

10



